BIAREELRY SELEH(BLI)

R BN REERZE ANHEIREZE| BEE ast
ERERFH | HSBUFH | BEREFH IVt EZH EHEYH | BREEFH INE FELHEER| EMEEEH
5 8 5 8 5 = 5 L8 5 L8 5 L8 5 L8 5 L8 5 L8 5 L8 5 z
H #®# | 10 0 3 3 5 4 18 7 13 3 1 13 9 0 10 13 10 3 10 0 61 26
EH R 3 1 4 1 1 4 8 6 7 0 0 6 5 0 5 6 4 3 6 1 30 16
#E O 2 2 6 2 1 4 9 8 3 3 0 11 1 0 1 11 4 4 2 1 19 27
B % 1 0 1 0 1 1 3 1 7 0 2 7 2 1 4 8 0 0 4 0 18 9
B F 0 1 1 2 1 5 2 8 0 1 1 4 0 0 1 4 1 1 0 2 4 16
& F 16 4 15 8 9 18 | 40 | 30 | 30 7 4 41 17 1 21 42 19 11 22 4 132 | 94

(HHM4E5A18HHE)




=RHEREART FEHE R (Fin- BRI

FHE 4 I | 29%LLTF | 30~39%% | 40~49%% | 50~59%% | 60~64%% | 65~69%% | 70mLLE & F
#H & 9 26 24 17 1 87
x | EEHE 27 14 5 46
2 N
S BOE 8 19 17 2 46 226
&y 1 17 7 2 27
B F 3 15 2 20
£ % 1 6 7 8 3 25
2
E | EHEE 4 9 1 14
iﬁ BOE 3 7 5 0 2 17 70
?B B % 2 2 4
B F 3 6 1 10
£ % 4 5 6 1 16
. K H® B 6 1 7
%
= E OO 5 1 6 37
B
B ' 6 1 7
B F 1 1
£ % 2 10 5 4 2 23
7 X -
| EHR 6 2 3 11
E BOE 2 4 6 12 63
?rs B % 6 4 2 12
B F 4 1 5
£ % 3 5 3 2 13
A
RS R 5 1 1 7
?; E OO 2 2 4 8 30
?rs B % 0
B F 2 2
£ % 2 2 1 2 3 10
- K H® B 6 1 7
=
=2 E OO 1 1 1 3 26
B
B % 1 3 4
B F 2 2

SHAESA1BHIRE)



HE— ALY DPEEY

Skl T N2

FER - F BEH | 2HEH | HE—ABYDEEH
BEEUFE
ERERER 19 332 17.4
#HERUAER 20 319 15.9
BEXEZH 21 345 16.4
N E 60 996 16.6
-S|
2R 36 575 15.9
REEEZFE
EEFH 40 423 105
Lo <35 3= b Sl 18 191 10.6
N E 58 614 10.5
AR EFER
FELHEER 28 364 13.0
BEEE
WA EER 24 339 14.1

KHEBHITHFEEFENTEYFEA,

SH4ESRA18 RHE




